42. What change did the Industrial
Revolution make in cities?

A. Increased their importance as religious
centers

B. Turned them into trade centers

C. Made them into political centers

D. Turned them into manufacturing
centers

43. In which area is Buddhism a major
religion?

A. Asia

B. Europe

C. Africa

D. Latin America

44. Which of the following geographic
regions is least heavily involved in world
trade?

A. North America

B. Middle East

C. Sub-Saharan Africa

D. Europe

45. Which of the following is the best
explanation for not raising hogs in the
Middle East?

A. The climate prevents raising hogs.
B. Corn cannot be grown to feed hogs.
C. Cattle are a cheaper source of meat.
D. Religious beliefs forbid eating pork.

46. Which country has the highest
percentage of its workers involved in
agricultural production?

A. Saudi Arabia

B. India

C. United Kingdom

D. United States

47. Which of the following is a major
limiting factor in the economic
development of Asia?

A. Lack of natural resources

B. Lack of working-age people

C. Lack of capital

D. Harsh climate

48. Which region has the highest
percentage of its people living in urban
areas?

A. North America

B. Central Africa

C. Eastern Europe

D. Southeast Asia

49. The world’s major trading regions are
A. North America and Europe

B. South America and Africa

C. Africa and Asia

D. Australia and South America

50. In the dotted areas of the map above
the most widely practiced religion is

A. Christianity

B. Mohammedanism

C. Judaism

D. Hinduism

51. What do Venezuela and Iran have in
common?

A. Oil exports
C. Religion

B. Language
D. Dense populations

Questions 52 and 53 refer to the following:
The transportation authority for a nearby
city recently published the proposed route
for the new mass transit system. One of
the train stations is in a residential neigh-
borhood just 3 blocks from your house.

52. The station in your neighborhood will
most likely

A. increase intensity of nearby land use.
B. have no effect on the intensity of
nearby land use.

C. decrease intensity of nearby land use.
D. increase the intensity of nearby land
use at night and decrease it during day.

53. The value of your house would most
likely

A. decrease because of the potential
noise of the trains.

B. increase because of the nearness of
auto dealerships.

C. decrease because of the added
congestion in the area.

D. increase because of the increased
accessibility to the transit system.
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